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General Instructions to Candidates :

l There is a 'Cool off time' of 15 minutes in addition to the writing time.

l Use the 'Cool off time' to get familiar with questions and to plan your
answers.

l Read the instructions carefully.

l Read the questions carefully before answering.

l Calculations, figures and graphs should be shown in the answer sheet itself.

l Malayalam version of the questions is also provided.

l Give equations wherever necessary.

l Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:

l j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.

l "WP¥ KLlV RRaU' S\Lh|°¥ kq]\pRÕaLjOU D¾q°¥ ByPNfeU
R\áLjOU DkSpLY]¨OW.

l j]¡SÇw°¥ oOuOvjOU èÈLkP¡vÿU vLp]¨eU.

l D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkP¡‹U vLp]¨eU.

l We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾qSkÕr]¤ fRÐ
DºLp]q]¨eU.

l S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

l Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.

l SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.

https://ditto.ws
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Answer all questions from 1 to 10.

Each  carry one score.

1. Economic growth without
creating employment
opportunities.
a) Under employment
b) Jobless growth
c) Disguised unemployment
d) None of these

2. Great Leap Forward (GLF)
campaign initiated in China
mainly aimed to .......
a) capitalization of the country
b) industrialization of the

country
c) the development of service

sector
d) the development of human

capital
3. Karve Committee give

suggestions to promote the
working of the following. Find it.
a) Heavy Industries
b) Rural Infrastructure

Development
c) The Public Sector Industries
d) Small Scale Industries

4. State any two sampling errors.

5. Give examples for quantitative
and qualitative classification.

1 oOf¤ 10 vRqpOtt IsæL S\Lh|°tOU

D¾qRouOfOW. 1 yVSWL¡ v}fU.

1. RfLu]svyq°¥ yQxVa]¨LRf

pOtt yLÒ¾]W vt¡\ÿ.

a) AkP¡¹oLp RfLu]svò

b) RfLu]s]sæL¾ vt¡\ÿ

c) Nk±ÐoLp RfLu]s]sæLpVo

d) CvRpLÐOosæ

2. oz¾Lp WOf]\ÿO\LŸU (GLF)
IÐ Nk\qeU BqUn]\ÿf]sPRa

RR\j NkiLjoLpOU sƒ|U Rv\ÿfV...

a) qL^|¾]R£ oOfsLt]¾v¤&

¨qeU

b) qL^|¾]R£ v|vyLpv¤&

¨qeU

c) Syvj SoXspORa v]WyjU

d) ojOx| oPsij¾]R£ v]WyjU

3. WL¡Rv WÚã]pORa j]¡SÇw°¥

fLRuÕrpOÐvp]¤ Jf]Rj

SNkLÃLz]Õ]¨LjLp]qOÐO ........

a) oPsij v|vyLp°¥

b) NYLo}e Aa]òLjyTWq|

v]WyjU

c) RkLfOSoXsL v|vyLp°¥

d) R\rOW]a v|vyLp°¥

4. JRfË]sOU qºV yLÒ]t]j

k]uvOW¥ IuOfOW.

5. kq]oLeLÄWoLp fqUf]q]¨s]jOU

YOekqoLp fqUf]q]¨s]jOU

DhLzqeU IuOfOW.

(10 × 1 = 10)
(10 × 1 = 10)
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6. The consumer price index (Base
year 2011 = 100) was 125 in
January 2018. One rupee coin
worth in January 2018 in terms
of the base year is ...........
a) 80 paise
b) Rs. 1.25
c) 60 paise
d) Rs. 2

7. Selling off part of the equity of
Public Sector undertakings to
the public is known as ..............
a) capital accumulation
b) investment
c) disinvestment
d) none of these

8. Calculate the range of  20, 25, 28,
32, 36, 40, 50, 55, 72, 75.

9. The basic economic activities
include .........
a) distribution
b) production
c) consumption
d) all of these

10. Find out the relative measure of
dispersion.
a) Coefficient of correlation
b) Standard deviation
c) Coefficient of mean deviation
d) Range

6. 2018  ^jOvq]p]Rs DkSnLWVfQ

v]syP\]W 125  BWOÐO

(Aa]òLjv¡xU 2011 = 100).
Aa]òLjv¡xU Rv\ÿV We¨L¨O

SÒL¥ 2018 ^jOvq]p]Rs KqO qPkL

jLep¾]R£ oPs|U ......

a) 80 RRky

b) 1 qPk 25 RRky

c) 60 RRky

d) 2 qPk

7. RkLfOSoXsL òLkj°tORa

KLzq]W¥ RkLfO^j°¥¨V v]ãV

Ku]vL¨OÐf]Rj ................ IÐO

v]t]¨OÐO.

a) oPsij y~qPkeU

b) j]SƒkU

c) Akj]SƒkU

d) CvRpLÐosæ

8. kq]i] (range) We¨L¨OW. 20,
25, 28, 32, 36, 40, 50, 55, 72, 75.

9. Aa]òLj yLÒ¾]W Nkv¡¾j

°t]¤ D¥RÕaOÐSffV ......

a) v]fqeU

b) DsVkLhjU

c) DkSnLYU

d) CvRpsæLU

10. BSkƒ]W NkW}¡¹j AtvV

JRfÐV WRº¾OW.

a) yzmÌ YOeLËU

b) oLjW v|f]pLjU

c) oLi| v|f]pLj YOeLËU

d) kq]i]
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Answer all questions from

 11 to 15. Each  carries two scores.

11. Calculate the rank correlation
between A and B.

A B

1 5
3 2
5 4
2 3
4 1

12. Point out any four important
productive activities for the
diversification of workforce.

13. The average marks of class

( )30AA X =  is better than
class ( )25BB X = . But teacher
says that class B  is more
consistant and give the standard
deviation of A and B as 15 and
10 respectively.
Calculate the coefficient of
variation of class A and class B

to prove it.

14. Briefly explain the importance
of statistics in economics.

15. The workers in informal sector
have so many limitations
compared to the formal sector.
Point out any four of them.

11 oOf¤ 15 vRqpOtt IsæL S\Lh|°tOU

D¾qRouOfOW. 2 yVSWL¡ v}fU.

 11. rLËV yzmÌU We¨L¨OW.

A B

1 5
3 2
5 4
2 3
4 1

12. RfLu]s]R£ RRvv]i|v¤¨qe

¾]jOkWq]¨OÐ JRfË]sOU jLsV

DsVkLhj Nkv¡¾j°¥

\Pº]¨Le]¨OW.

13. WæLyV A pORa wqLwq] oL¡¨V

( )30AX =  WæLyV B  pOSaf]Sj

¨L¥ ( )25BX =  Ro\ÿRÕŸfLeV.

WæLyV A pORapOU B pORapOU oLjW

v|f]pLjU A=15DU B=10DU IÐVV

fÐORWLºV WæLyV B pLeV WPaOf¤

ò]qf WLe]¨OÐRfÐV a}\ÿ¡

NkyVfLv]¨OÐO.

WæLyV A pORapOU B pORapOU YOeLË

v|f]pLjU WRº¾]R¨LºV Cf]Rj

yLiPWq]¨OW.

14. yLÒ¾]W wLyVNf¾]¤

ò]f]v]vq wLyVNf¾]jOtt

NkLiLj|U \OqO¨] v]vq]¨OW.

15. KTk\Lq]W SoXsRp ASkƒ]\ÿV

AjTk\Lq]W SoXsp]Rs

RfLu]sLt]W¥¨V iLqtU

kq]o]f]WtOºV. JRfË]sOU jLsV

kq]o]f]W¥ \Pº]¨Le]¨OW.

(5 × 2 = 10)
(5 × 2 = 10)
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17. CÍ|, RR\j, kL¨]òL¢ IÐ}

yÒhV v|vòWtORa yv]Swxf

W¥ oPÐO fsR¨ŸOWt]sLp]

v¡«}Wq]¨OW.

a) KãWOŸ] j]poU

b) Dp¡Ð Nkf|OsVkLhj j]q¨V

c) 1991&Rs yLÒ¾]W

kq]xVWqeU

d) Dp¡Ð ^jyLNÎfL j]q¨V

e) Dp¡Ð oLjv v]Wyj yP\]W

(HDI)
f) Dp¡Ð w]wOoqe j]q¨V

18. Nm]Ÿ}xV WLsZŸ¾]Rs WL¡x]W

SoXspORa yVfUnjLvò¨Ott

NkiLj WLqeU Ai]j]Svw

y¡¨Lq]R£ jp°tLeV. B

jp°¥ \OqO¨] v]vq]¨OW.

17. Catagorize the following
features of the economics of
India, China, Pakistan under
three heads.
a) One child norm
b) High fertility rate
c) Economic reforms in 1991
d) High density of population
e) Highest Human Development

Index
f) High Infant Mortality Rate

18. The stagnation of Indian
agriculture during British
period was mainly caused by the
policies of colonial government.
Briefly explain that policies.

16  oOf¤ 22  vRqpOtt S\Lh|°t]¤

JRfË]sOU 6 I¹¾]jV D¾qRouOfOW.

3 yVSWL¡ v}fU.

16. kŸ]W kP¡¾}Wq]¨OW.

Answer any six questions from

16 to 22. Each  carries three

scores.

16. Complete the table.

(6 × 3 = 18)(6 × 3 = 18)

Mode of Data Collection Advantages Disadvantages
h¾ SwXqe q}f]W¥ SjŸ°¥ SWLŸ°¥

Personal Interview
........................... ................................

v|WVf]Yf An]oOXU

................................ ..........................
Cannot be used by the illiterates

j]qƒqqLpv¡¨]a V̈ DkSpLY]¨L¢

yLi|osæ

................................

Relatively high

................................
response rate

BSkƒ]WoLp] Dp¡Ð

Nkf]Wqe j]q V̈
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19. oO¢fP¨ yµ]f v]s yP\]W
We¨L¨OW.

19. Calculate weighted aggregative
price index.

20. a) Name the foreign trade
policy adopted by India
during 1950–1990.

b) Identify the policy
instruments to protect the
domestic industries.

21. As an economic student, teacher
asks you to make a project of
disguised unemployment. Write
the steps to making that project.

22. Write the essential parts of a
good statistical table.

Answer any four questions from
23 to 27. Each  carries four scores.

23. Analyze the relationship
between human capital and
economic growth.

24. Prepare a frequency
distribution from the following
data (Exclusive Method).

Commodities Base Period Current Period Current Period
Price P0 Price P1 Quantity Q1

vyVfO¨¥ Aa]òLj v]s P0 fÐLºV v]s P1 fÐLºV AtvV Q1

A 5 10 4
B 8 6 5
C 4 8 10
D 10 15 2

20. a) 1950–1990 WLsZŸ¾]¤ CÍ|
y~}Wq]\ÿ v]ShwWLq| jp¾]R£
SkRqÍLeV.

b) Bn|Íq v|vyLp°Rt
yUqƒ]¨OÐf]jLp] qPk}Wq]\ÿ
jp DkWqe°¥ JRfsæLoLeV.

21. Nk±Ð RfLu]s]sæLpVoRp¨Or]\ÿV KqO
SNkL^WVa V fáLrL¨L¢ KqO
yLÒ¾]WwLyVNf v]h|L¡À]pLp
j]°StLaV a}\ÿ¡ Bvw|RÕaOÐO.
B RNkL^WVaV fáLrL¨OÐf]jOtt
ZŸ°¥ IuOfOW.

22. KqO jsæ ò]f]v]vq kŸ]W¨OSvº
NkiLj nLY°¥ JRfsæLRoÐV
IuOfOW.

23  oOf¤ 27  vRqpOtt S\Lh|°t]¤

JRfË]sOU 4 I¹¾]jV D¾qRouOfOW.

4 yVSWL¡ v}fU.

23. ojOx| oPsijvOU yLÒ¾]W
vt¡\ÿpOU fÚ]sOtt mÌ°¥
v]wWsjU R\áOW.

24. fLRu  RWLaO¾]q]¨OÐ h¾°tO
kSpLY]\ÿV KqO BvQ¾] v]fqeU
fáLrL¨OW (IWVyVWæPy}vV q}f])

28 36 15 8 46 39 18 24 34 9

15 19 26 34 42 29 43 27 10 55

13 52 35 41 26 36 20 39 58 6

66 18 25 43 32 21 40 33 50 7

53 35 41 68 22 39 42 10 36 11

(2)

(1)

(2)

(1)

(4 × 4 = 16)(4 × 4 = 16)
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25. NYLo v]WyjU yLi|oL¨L¢ èÈ

j¤SWº SoXsW¥ v]whoL¨OW.

26. CÍ|p]Rs DT¡² SoXs Sjq]aOÐ

RvsæOv]t]W¥ JRfsæLRoRÐuOfOW.

27. fLRuR¨LaO¾ h¾oOkSpLY]\ÿV

RRk cpNYU vqpV¨OW.

NYLo}e SoXsp]Rs RfLu]sLt]W¥ (sƒ¾]¤)

ò]q vqOoLj¨L¡ 28
y~pU RfLu]¤ WRº¾]pv¡ 216
fL¤¨Ls]W WPs]R¾Lu]sLt]W¥ 156

28  oOf¤ 30  vRqpOtt S\Lh|°t]¤

JRfË]sOU 2 I¹¾]jV D¾qRouOfOW.

5 yVSWL¡ v}fU.

28. yzmÌ YOeLË¾]R£

yv]SwxfWtOU AµV SfLfOWtOU

\Pº]¨Le]¨OW.

29. fLRuR¨LaO¾ h¾°t]¤ j]ÐOU

\fO¡gW v|f]pLjU We¨L¨OW.

WæLyV BvQ¾]

0 – 10 8

10 – 20 12

20 – 30 15

30 – 40 10

40 – 50 5

30. WL¡x]W SoXsp]sOU v|LvyLp]W

SoXsp]sOU kO¾¢ yLÒ¾]W

jp¾]R£ nLYoLpOºLp

AjÍqls°¥ v]o¡wjLÄWoLp]

v]sp]qO¾OW.

25. Explain the areas to be
addressed for rural
development.

26. Identify the challanges faced by
the power sector in India.

27. Draw a pie diagram for the
following data :
    Rural Workers (In Lakhs)
Regular salaried 28
Self-employed 216
Casual wage labours 156

Answer any two questions from

28 to 30. Each  carries five scores.

28. Point out the properties and five
degrees of correlation
coefficient.

29. Calculate the quartile deviation
for the following data :

Class Frequency

0 – 10 8

10 – 20 12

20 – 30 15

30 – 40 10

40 – 50 5

30. Critically evaluate the impact of
New Economic policy in
Agriculture and Industrial
Sector.

(2 × 5 = 10)(2 × 5 = 10)
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31  oOf¤ 33  vRqpOtt S\Lh|°t]¤

JRfË]sOU 2 I¹¾]jV D¾qRouOfOW.

8 yVSWL¡ v}fU.

31. ""CÍ|p]Rs ^j°¥¨V Dp¡Ð

^}vf j]svLqU SjaOÐf]jV

Yv¦Ro£]R£ hLq]Nhj]¡ÚL¡²j

¾]jOtt oPÐOfs yo}kj°¥

yzLp]\ÿO.''

a) hLq]Nh|U WOrpV¨OÐf]jOtt

oPÐOfs yo}kj°¥

v]wh}Wq]¨OW

b) v]o¡wjLÄWoLp] B yo}kj

°Rt v]sp]qO¾OW.

32. yoLÍq oLi|U > oi|LËU >
mzOsWU BReÐV òLk]¨OW.

yVSWL¡ v]h|L¡À]WtORa I¹U

0–10 4
10–20 8
20–30 10
30–40 15
40–50 9
50–60 7
60–70 5
70–80 2

yVSWL¡&oLi|U 2½, oLi|LËU&2½,

mzOsWU&1, òLk]¨OÐf]jV&1

33. ""CÍ|p]Rs v]Wyj Nkv¡¾j

°¥ kq]ò]f]¨OSo¤ Dp¡Ð

yÚ¡ÇU R\sO¾]''

a) kq]ò]f]pORa i¡Ú°Stv?

b) v]Wyj Nkv¡¾j°¥ oOWt]¤

RWLaO¾ kq]ò]f]pORa

i¡Ú°¥¨V nLqoLpfV

I°RjRpÐV v]wWsjU

R\áOW.

c) CÍ|p]Rs JãvOU oO¢Yej

j¤SWº kq]ò]f] NkwVj°t]

¤ jLRs¹U \Pº]¨Le]¨OW.

Answer any two questions from 31
to 33. Each  carries eight scores.

31. "The three diamensional
approach of government to
reduce poverty helps the Indian
citizen to achieve a higher living
standard".
a) Explain the three

dimensional approach to
reduce poverty.

b) Critically evaluate them.

32. Prove that Arithmetic
Mean > Median > Mode

Marks No. of Students
0–10 4

10–20 8
20–30 10
30–40 15
40–50 9
50–60 7
60–70 5
70–80 2

Scores – Mean 2½; Median –2½;
Mode – 1; Prove – 1

33. 'The developmental activities in
India have exerted high pressure
on environment'.
a) Write the functions of

environment.
b) Analyze how the

development activities
becomes a burden to the
above mentioned functions.

c) Point out any four priority
enviornmental issues
identified in India.

(2 × 8 = 16)(2 × 8 = 16)

(5) (5)

(3)
(3)

(2)

(4)

(2)

(2)

(4)

(2)




